) ()

We move your world

MUDGURDS




N ()

We move your world

ALUMINIUM TREAD PLATE MUDGUARD

Part No. Description
7215222 ALU TREAD PLT MUDGUARD | 650 2000 | 1300 | 630 60 Single
7215223 ALU TREAD PLT MUDGUARD | 500 2000 | 1300 | 630 60 Single

PLASTIC MUDGUARD

® Limited in size

e Basic design 7215226

® -50°/+80° resistance

~~~~~

3+1 Sheet thickness

Customizable sizes

Impact- and weather resistant

Description
PLSTC MUDGUARD W WHITE BDR 430 1900 | 650 1300 | 580 75
7215227 PLSTC MUDGUARD W WHITE BDR 670 2125 670 1340 | 680 75




MUDGUARDS

FAST-FIT MUDGUARD WITH WHITE LINE

-75% fixing/unfixing time
-50°/+80° resistance

Part No. Description

® Customizable brackets position
® Basic design
-50°/+80° resistance

Part No.
7215229

Description

PLS MDG. W WHT BR & ADJ BR




N ()

We move your world

FLAT-TOP PLASTIC MUDGUARD WITH WHITE LINE

e Direct fixing to the
loading platform
e -50°/+80° resistance

PLASTIC BRACKET

Part No.

Description

PR

Part No. Description
7215233 FLATOP PL. MDG W WHT BR 260 1450 | 380 880 | 450 400
7215234 FLATOP PL. MDG W WHT BR 450 1480 | 400 | 920 460 400

42

Part N
300 | 43 721523

O.

Description

B aSCEEEEY - REEEEEEEEEEE

Part No. B
7215235 420
7215236 600




MUDGUARDS

BLACK POWDER COATED STAY WITH WELDED INTERNAL SCREW THREAD

L@
*
\
\
\
\
\
\
inl
\
\
]

&

[
~o N
7~
[} - @
v - N
N
~

[ e ~
.9
Part No. L @ Part No. L L1 (0]
7215237 580 |42 7215239 580 | 310 42
7215238 800 | 42 7215240 800 | 530 |42

ALUMINIUM TREAD PLATE MUDGUARD

Part No. Description

7170134 ALU TREAD PLT MUDGUARD 650 1280 | 1300 | 630 60
7170135 ALU TREAD PLT MUDGUARD 650 1390 | 1300 | 630 60
7170139 ALU TREAD PLT MUDGUARD TANDEM 650 3300 | 1300 | 630 60
7170145 ALU TREAD PLT MUDGUARD TANDEM 650 2820 | 1300 | 630 60




N ()

We move your world

COMPLETE KIT OF ALUMINIUM MUDGUARD

Part No. Description
COMPLETE KIT OF ALUMINIUM MUDGUARD 650x2700

»e—---"

?
]
1
1
©
]
)
éd &~
Q
\
\

AEQ70402
ALUMINIUM MUDGUARD WITH MOUNTED BRACKETS | 650 | 3440 [2700 |50 |60  [muLTi
[o2Ne] ’e
® |
8:&% ] &@- ___________ 0 ________
800 |530 |42
Part No. Description @
o
AE083420 | BENDED PLATE B — . w
52,5 g % & — oo ®---- -
13,5 B 0 800 | 530 |42

5

98

STt Q """"" * |75 |44 |42




MUDGUARDS

ITEM QTY DESCRIPTION BIIVISNS (O} MATERIAL PART NO.
A 2 FOLDED PLATE S355JR (ST.52-3 | AEO81460
B 1 PLATE T=6mm S420MC AEO081485
€ 1 FOLDED PLATE T=6mm S420MC AEO081486 @ Q o G
D 4 WASHER DIN-125-A-15 45110114 | | | |
E 4 BOLT M14X40 DIN-933 45011410
F 4 NUT SELFLOCK M14 DIN 985 8.8ZP 45081415
G 2 WASHER M10 DIN125A ZP 45110110
H 2 HEX NUT M10 DIN98S 8.8ZP 45081015
| 2 HEX-HEAD BOLT | M10X60 DIN 931-1 45011026
4 SPRING WASHER | M14 DIN 127 ZP 45110214
K 2 SPRING WASHER | M10 DIN 127 ZP STEEL ZP 45110210

Description

DL803248 STRAIGHT PIPE WITH WELDED PLATEAND 2 | 655 |42
ADDITIONAL BENDED PLATES

Description

DL803246 STRAIGHT PIPE WITH WELDED PLATE 655 | 42

52,5
13,5
(N T A ) e
9 of ﬁ) Part No. Description
: AE083420 BENDED PLATE
105 98

Part No. Description

AE080624 CENTRAL BRACKET WITH U-BOLT

Part No. Description

26870061 | ZINC PLATED ADJ.BRACKETS WITH GEOMET

FASTENERS




®
I'{VA Tipping Solutions | Container Handling | Waste Handling | Cranes

We move your world

110 countries
+3,500 employees
20,000 customers
+30 subsidiaries

12 production facilities

Hyva is a leading provider of innovative and highly efficient transport solutions
for commercial vehicles used in transport, construction, mining, materials handling and
environmental service industries.

Founded in 1979 in the Netherlands, the company has a global presence with more than
30 wholly owned subsidiaries, extraordinary servicé coverage.and 12 manufacturing
facilities«n Brazil, China, Européand India.

For more information on Hyyva;/please visit www.hyva.com

or follow usion:

fein@w

.LRQA
HYVA SOUTHERN AFRICA (PTY) LTD. <%,

S
178 Barbara Rd, ;‘r“b
Rietfontein 63-Ir, Germiston, 2 I?
(e}
=
2

1401, Johannesburg, South Africa

Telephone: +27 (0) 11 822 1446 hXd
enquiries.sa@hyva.com TO900T RO T300T

www.hyva.com
Quality and

environmental certified

Disclaimer: Products shown in this brochure might be partially equipped and may not correspond to the standard version
Country-specific regulations must be observed. Dimensions may vary. This brochure could be subjected to technical changes, errors and translation mistakes.

PG-E 00000391/19-04-2020 / RV AA



